the TFNA za+ b+ Lo+ td+ Le+ Lf & A7]E=7

@ 180° @ 270° (@)360" @ 450° ® 540°

b+ Lf + 2d = 180°
la+ Lc+ Le = 180°
. la+ b+ Le+ /d+ Le+ Lf = 360°
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[ 2
> ®=eh 112°

AABC °f|A
(DBC + /DCB = 180° — (68° + 23° + 21°) = 68°
. /x = 180° — 68° = 112°
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th2 189] AABC oA BP, CQ & 22 /B ¢} £C 2] o] 5H Ao

(A =40° D W), zx + 2y & A7 E 75 }@?

D 120° @ 150° @ 180° @210°

® 240°

B

AABC 9|4 /B + +C = 180° — 40° = 140°
1
AQBC A zx = /B + 510

1
APBC 9|4 2y = §zB +/C

X+ Ly = g(zB + £C) = 210°
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2t gk ff, /D = 40° o] /A o] 27|12 Fstojet.

A D
A ?
p&t L
@® 60° @ 64° ® 68° @)80° ® 84°
A D

B

(b= rta+40° 2/b = /x+ 2/a
/x+ 2/a = 2(La + 40°)

/X + 2/a = 2/a + 80°

o Lx = 80°
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Lo xR} Uk AZE AS] 2tk A2E B izt
o3t Si2ke eig Aoln 2, 9]2he B old) B, 150°+85°+
90° +80° 4 140° + 90° + £x = 720°°|c}. WEbA 1x = 85°
oet.




6. o2 29I Zo] BAC =35> o, LBOC ] 27|& FohH?

@ @mn @ @se o

~&B

o8 7oAl OA 2 71°9W OA = OB = OC |t}

/OAB = a, /OAC = b 2t1! 5}
a+b=35°
(BOC = 70°




th& 131614 DB = DC = AC = AF & 1, x ©] 3& Fatolar

/DCB = /DBC = 15°

(ADC = /DAC = 15° 4 15° = 30°

/ACE = /AEC = 30° 4 15° = 45°

. /x = (DBC + £AEC = 15° + 45° = 60°




